The one-sample problem
p-value approach

Hypothesis type p-value
Lower tail P(Z < z) P <t)
Upper tail P(Z > 2) PT >t)
2-tailed 2P(Z >|z]) | 2P@T > |t])
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The two-sample problem
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Test of Independence in rxc table
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Sample correlation coefficient
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Estimated regression model §/i = bo + blx

The Least Square Estimates are
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Standard Error of the Slope
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Simple Index number formula & Unweighted
aggregate price index formula (respectively)
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Weighted Aggregate Price Indexes
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Single Exponential Smoothing Model
Ft+1 = Ft + (Z(yt - Ft): ayt + (1_ (X)Ft Where
a: smoothing constant.

Exponential Trend Model v, = 5,8 ¢,
Transformed Exponential Trend Model
log(Y ) = log(B,) + X  log(pB,) + log(s,)
Exponential Model for Quarterly data
Yo= B BB BB e,

pth-order Autoregressive Model

Y, =A, +AY +A2Yt2"'+Athp+gt

where A,: the pth autoregressive parameter



